Searchbin pTiss [GeV] Lostlepton Z(v7) +jets Rare QCD multijet  Total SM Ny,
High Am, Ny, = 2, m5 > 175GeV, Ny = 1, Nyes = 1, Ny = 0, 300 < Hy < 1300 GeV
137 250-350 45117 0.07 1% 1401933 <0.01 59113 5
138 350450 1107935 014708 128703 <0.01 2.52 702 5
139 >450 062702 0174010 2094039 12414 41415 3
High Am, Ny, = 2, m2 > 175GeV, Ny = 1, Nyes = 1, Ny = 0, Hy > 1300 GeV
140 250-350  0.7540.19 <0.01 0.16 7008 <0.01 0.90 £0.20 2
141 350-450  0.31£0.12 0.024+0.02 0.05+0.04 <0.01 0.384+0.13 0
142 >450 0211075 0.10£0.08 0.3340.08 <0.01 0.64 1017 0
High Am, N, =2, m5 > 175GeV, Ny = 0, Nres = 1, Ny = 1
143 250-550 7373  040+016 3.1870% <0.01 109+1.7 6
144 >550 0094003 0.05+005 0245 <0.01 0.37 +0.09 0
High Am, Ny = 2, m2 > 175GeV, Ny = 2, Nyes = 0, Nw =0
145 250450 092103 0.04+0.04 0.78+0.16 <0.01 1747001
146 >450 0.20 1033 <0.01 0.36 £ 0.09 <0.01 0.56 1077
High Am, N, = 2, mb > 175GeV, Ny = 0, Nyes = 0, Ny = 2
147 >250 0464023 0.04+0.04 024=£0.06 <0.01 0.74+£0.26 0
High Am, Ny, = 2, m5 > 175GeV, Ny = 0, Nyes = 2, Ny = 0, 300 < Hy < 1300 GeV
148 250-450 151733 0824035 10.6+19 <0.01 265733 19
149 >450 0.89+£029 016700 181103  0.58+£059  3.45705 3
High Am, N, =2, m2 > 175GeV, Ny = 0, Nres = 2, Nw = 0, Hr > 1300 GeV
150 250-450 0437012 <0.01 0.03 +0.03 <0.01 0.46 1020 0
151 >450 0.19+£0.15 0.02+£0.02  0.04 7358 <0.01 0.24 £0.15 0
High Am, N, = 2, m2 > 175GeV, (N; + Nres + Nw) > 3
152 >250 0.38 7030 <0.01 0.06 003 <0.01 044031 1
High Am, Ny, > 3, m2 > 175GeV, N = 1, Nyes = 0, Ny = 0, 300 < Hy < 1000 GeV
153 250-350 10533 0207071  041£008 0.02+£0.02 11.1422 8
154 350-550  8.1+19 041707  0.82+0.15 <0.01 93+19 6
155 >550 1.104£0.60 027+0.15 0457512 <0.01 1.82 4+ 0.65 4
High Am, Ny, > 3, m5 > 175GeV, Ny = 1, Nyes = 0, Ny = 0, 1000 < Hy < 1500 GeV
156 250-350 50412  0.24+014 032705  031+£032 59+13 4
157 350-550  1.64+061 0247012 0257007 <0.01 2.13 10¢7 1
158 >550 0124012 0.18+0.12 020£005 001£002 052£0.18
High Am, Ny, > 3, m2 > 175GeV, N; = 1, Nyes = 0, Ny = 0, Hr > 1500 GeV
159 250-350 40113 0.0413%  0034+0.03 0.10+£0.08  41+14 9
160 350-550  0.59+0.33 0.19+024 0.04=+0.03 <0.01 0.82 4 0.42 2
161 >550 015+0.10  0.0770%  0.08+0.04 <0.01 0.30 013 0



